
AP® MICROECONOMICS 
2008 SCORING GUIDELINES 

Question 1 
 
12 points (4 + 4 + 4) 
 
  

 
 
(a) 4 points: 

•   One point is earned for a correctly labeled graph of the apple market, with PM  
and QM properly indicated. 

•   One point is earned for showing that the firm’s price equals the market price. 
•   One point is earned for the tangency of flat firm demand (PF) and ATC. 
•   One point is earned for QF where MR (P) = MC. 
 

(b) 4 points:  
•   One point is earned for concluding that the lump-sum subsidy will have no impact on Callahan’s 

output. 
•   One point is earned for explaining that the lump-sum subsidy will not affect MC (or MR). 
•   One point is earned for concluding that Callahan’s profit will increase. 
•   One point is earned for concluding that the number of firms in the industry will not change. 

 
(c) 4 points:  

•   One point is earned for concluding that the number of firms in the industry will increase. 
•   One point is earned for explaining that the existence of profits attracts new firms. 
•   One point is earned for concluding that the price will fall. 
•   One point is earned for concluding that industry output will increase. 
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AP® MICROECONOMICS 
2008 SCORING COMMENTARY 

Question 1 
 
Overview 
 
The question asked students to draw diagrams of a perfectly competitive firm and a market in long-run 
equilibrium and to determine the effect of a lump-sum subsidy in the short run and in the long run. 
 
Sample: 1A 
Score: 12 
 
All parts are correctly answered. 
 
Sample: 1B 
Score: 7 
 
The student lost a point in part (a)(i) for failing to show that the market price is equal to the firm’s price. In 
part (b)(i) the student lost the first point for incorrectly asserting that the lump-sum subsidy causes output to 
increase in the short run and the second point for an incorrect explanation. The student lost a point in part 
(c)(i) for failing to explain that profits cause the increase in the number of firms and a point in part (c)(ii) for 
incorrectly asserting that price does not change in the long run. 
 
Sample: 1C 
Score: 2 
 
In part (a)(i) the student earned the first point for a correctly labeled graph of the apple market and the second 
point for indicating that the firm’s price is equal to the market price. 
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